ApxaHrenbck (8182)63-90-72
AcTtana (7172)727-132
AcTtpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropon (4722)40-23-64
BpsaHck (4832)59-03-52
Bnapusoctok (423)249-28-31
Bonrorpaa (844)278-03-48
Bonoraa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHGypr (343)384-55-89
WBaHoBO (4932)77-34-06

WxeBck (3412)26-03-58
UpkyTck (395)279-98-46
KasaHb (843)206-01-48
Kanununrpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
KupoB (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
Nuneuk (4742)52-20-81
Kuprusuna (996)312-96-26-47

Maruutoropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck (8152)59-64-93
HabepexHble YenHbl (8552)20-53-41
HwxHuin HoBropog (831)429-08-12
HoBoky3HeuUk (3843)20-46-81
HoBocubupck (383)227-86-73
Omck  (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

Mensa (8412)22-31-16
Kasaxcran (772)734-952-31

Mepmb (342)205-81-47
PoctoB-Ha-loHy (863)308-18-15
Psasanb (4912)46-61-64
Camapa (846)206-03-16
CaHkT-MeTepbypr (812)309-46-40
CapaTtoB (845)249-38-78
CeBactononb (8692)22-31-93
Cumdpepononb (3652)67-13-56
CmoneHck (4812)29-41-54
Coumn (862)225-72-31
CrtaBpononb (8652)20-65-13
TapxukucTaH (992)427-82-92-69

https://pnoz.nt-rt.ru/ || pzh@nt-rt.ru

N PnHagne>xHoCtTn MarHUTHbIX A4aTYUKOB

PSEN Winkel / bracket

Mounting bracket PSENmag; PU = 1 piece.

TexHun4yeckune XapakKTepuctTukKum

Bec 6pyTTO:

Bec HeTTO:

249

PSEN Distanzplatte / spacer (10 pcs.)

Spacer for PSEN 1.1 and PSEN 2.1; PU = 10 pieces.
TexHU4YecKne xapaktTepucTuKu

Bec 6pyTToO:

Bec HeTTO:!

101 g

100 g

Cypryt (3462)77-98-35
TBepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TioMeHb (3452)66-21-18
YnbAHOBCK (8422)24-23-59
Ydpa (347)229-48-12
XabapoBck (4212)92-98-04
YensabuHck (351)202-03-61
YepenoBel (8202)49-02-64
ApocnaBnb (4852)69-52-93



PSEN reverse spacer

Reverse spacer for all rectangular PSEN. 2 units.

TexHUn4yeckne xapakTepucTUKU
Bec 6pyTTO: 10 g

Bec HeTTO: 60

PSEN il Interface for 4 PSEN 2

Interface PSEN il for connection and evaluation of several safety sensors N/O, N/C 96 x 48 x 43.5 mm (H x W x D);
Connection type spring-loaded terminals.

TexHU4Yeckue XapakKTepuctTukKum

CepTudukaums: CE, cULus Listed, TUV
Bec 6pyTToO: 92 ¢
Bec HeTTO: 82¢g

Okpyxatowasi TemnepaTtypa: -10-55°C



PSEN ix1 Interface for 4 PSEN 1

!!!UUVUU
L L

-
AMA AT 23 48
YA YR VT Y7 YS V4 YE VR

13146 23 24 33 34 O M
tunsywwaa

L B e e e o
-

Interface PSEN ix1 for connection and evaluation of several of several safety sensors N/O, NO 96 x 48 x 43.5 mm (H x
W x D); Connection type spring-loaded terminals.

TexHun4yeckune XapakKTepuctTukKum

CepTudukaums: CE, cULus Listed, TUV
Bec 6pyTTo: 1129

Bec HeTTO: 101 g

Okpyxatowasi TemnepaTtypa: -10-55°C

PSEN screw M4x16 10pcs

Screws with one-way slot M4 x 16, material stainless steel, 1 PU = 10 pieces. Matching the following actuators: PSEN
1.1/PSEN2.1/PSENmel.x AS/PSENme4.

TexHuyeckune XapakKTepuctTukum

Bec 6pyTToO: 18 ¢

Bec HeTTO!: 16 g



PSEN screw M5x10 10pcs

Screws with one-way slot M5 x 10, material stainless steel, 1 PU = 10 pieces. Matching the following actuators: PSEN
csl.x, PSEN cs2.x.

TexHu4Yeckue xapakTepucTUKu

Bec 6pyTTO: 22 g

Bec HeTTO: 209

PSEN screw M5x20 10pcs

;9; ‘

Screws with one-way slot M5 x 20, material stainless steel, 1 PU = 10 pieces. Matching the following actuators: PSEN
csl.x, PSEN cs2.x, PSEN mel.x AR, PSEN me2.x, PSEN me3.x, PSEN slx.

TexHuyeckune XapakKTepuctTukKum
Bec 6pyTTO: 339

Bec HeTTO: 319

PSEN mal.4 spacer (10 pcs.)

Spacer for PSEN ma 1.4; PU = 10 pieces - 5 pieces (534321) for actuator and 5 pieces (534310) for switches.

TexHU4YecKkne xapakTepucTuku

Bec 6pyTTO: 80g

Bec HeTTO: 799



PSEN screw M4x10 10pcs

Screws with one-way slot M4x10, material stainless steel, 1Unit = 10 pieces. Suitable for PSENcs 1.1/PSEN
cs2.1/PSEN cs2.2"

TexHU4YecKne xapakTepucTuKku
Bec 6pyTToO: 12 g

Bec HeTTO: 119

PSEN screw M4x12 10pcs

Screws with one-way slot M4x10, material stainless steel, 1Unit = 10 pieces. Suitable for PSENcs 1.1/PSEN
cs2.1/PSEN cs2.2"

TexHU4YecKkne xapakTepucTuku

Bec 6pyTToO: 139

Bec HeTTO: 12 ¢

PSEN screw M4x20 10pcs

Screws with one-way slot M4x10, material stainless steel, 1Unit = 10 pieces. Suitable for PSEN c¢s5.1n; PSEN cs5.1
M12/8; PSEN cs5.11; PSEN c¢s5.13; PSEN c¢s6.1n; PSEN c¢s6.2n; PSEN c¢s6.11; PSEN c¢s6.21

TexHU4eckue XapakKTepuctumkKum
Bec 6pyTTO: 229

Bec HeTTO: 2149



PSEN screw M4x26 10pcs

Screws with one-way slot M4x26, material stainless steel, 1Unit = 10 pieces. Suitable for PSENmag with spacer.”

TexHU4Yeckue xapakTepucTUKun

Bec 6pyTToO:

Bec HeTTO:

ApxaHrenbck (8182)63-90-72
ActaHa (7172)727-132
AcTtpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropon (4722)40-23-64
BpsHck  (4832)59-03-52
BnapuBocTtok (423)249-28-31
Bonrorpap (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHGypr (343)384-55-89
MBaHOBO (4932)77-34-06

WxeBck (3412)26-03-58
WUpkyTck (395)279-98-46
KasaHb (843)206-01-48
Kanununrpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
KupoB (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
JNuneuk (4742)52-20-81
Kuprusua (996)312-96-26-47

2749

Marnutoropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck (8152)59-64-93
HaGepexHble YenHbl (8552)20-53-41
HwxHuin Hosropoa (831)429-08-12
HoBoky3Heuk (3843)20-46-81
HoBocubupck (383)227-86-73
Omck  (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

Mensa (8412)22-31-16
Kasaxcran (772)734-952-31

Mepmb (342)205-81-47
PocToB-Ha-[loHy (863)308-18-15
PAsaHb (4912)46-61-64
Camapa (846)206-03-16
CaHkT-lMeTepbypr (812)309-46-40
CapatoB (845)249-38-78
CeBactononb (8692)22-31-93
Cumdpepononb (3652)67-13-56
CmoneHck (4812)29-41-54
Coum (862)225-72-31
CraBpononb (8652)20-65-13
TapxukuctaH (992)427-82-92-69

https://pnoz.nt-rt.ru/ || pzh@nt-rt.ru

CypryTt (3462)77-98-35
TBepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TomeHb (3452)66-21-18
YnbaHoBCK (8422)24-23-59
Ydba (347)229-48-12
Xa6apoBck (4212)92-98-04
YenabuHck (351)202-03-61
Yepenoseu (8202)49-02-64
flpocnaBnb (4852)69-52-93



